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2 to 20 years: Boys NAME
Stature-for-age and Weight-for-age percentiles RECORD #
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*To Calculate BMI: Weight (kg) + Stature (cm) - Stature (cm) x 10,0004 =
or Weight (Ib) - Stature {in} « Stature (in) x 703 _ /£
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2 to 20 years: Boys NAME
Body mass index-for-age percentiles RECORD #

Date Age | Weight | Stature BMI* Comments = %
R Dt it S et BMI
EEEEEEE 35—
34—
el —
: 33—
S TS
! Kl
‘ el
.| . - "{ — 31 —
- = 30—

*To Caloulate BMI: Waight (kg) + Stature (cm) + Stature cm) x 10,000 === ==
or Weignt (Ib) + Stature (in) + Stature (in) x 708 :
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